( 3 ) "Dgl TE N F
. The proce T
wm:Cd N process of cell division in Amoeba is 1. nifiara (iEd (@ ReretEd sfferata
(A) Micosis e
(B) Amitosis (A) W
(C) Mitosis (B) SOTsIRiBIHm
(D) Meiosis (C) SRHIFm
(D) ST

2. Asumwas put at simple interest at a certain
rate for 3 years. Had it been put at 19
it would have fetched Rs, 5,100 mor
1S

higher rate;
¢. The sum

(A) Rs. 1,25,000
(B) Rs. 1,70,000
(C) Rs. 1,20,000
(D) Rs. 1,50,000

3. Fromthe givenalternative words, select the
word which cannot be formed using the letters of

the given word:
ose formed the

PHOTOSYNTHETIC
(A) PRONE
(B) THOSE
(C) COTTON
(D) SCENT
4. In 1943, Subhas %
Provisional Govern India at
(A) B
(B) n
© B
(D) Singapore
5. In a code language 724 means ‘leaf is
green’, 371 means ‘green and blue’ and 438 means
‘sky is blue’. Then which numbers represent ‘leaf’
and ‘is’?
(A) 7and 4
(B) 2and 7

(C) 2and 8
(D) 2and 4

- SF RO B! T A 3 AR Tl (e vl
o | T (13 @33 sAfel Biet 1% it o fafeatl

(A) PRONE4
#) THOSE
(¢) COTTON
(D) SCENT

| 1943 Aite EfeIiRe @M B Ty (@
AT FIW ©0e B (Provisional) FaBIA Stow
PA?
(A) aifefq
(B) &% {(d)
(C) WS |
(D) fRio &

R\
AR ST 724 T Lo is gros’
374 ST ‘green and blue’ € 438 AT “sky is blue’

20, “leaf’ 3% 1Y GO ! B (AR T2
(A) 7 9% 4
o 7 61’ q'
(B) 2 4 5
() 2.9% 8

(pfzaau
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. . ame pumbers arc
many WO digit prime ! ¢

6. How

there?
(A) 21
(B) 25
(C) Can't be determined

(D) 23

7. Which one of the following is nota Dwarf

Planet?
(A) Ceres

(B) Pluto
(C) Eris
(D) Neptune

8. If ‘X$Y means ‘X is father of Y'; ‘X#Y’
means ‘X is mother of Y’; ‘XxY’ means ‘X is
sister of Y’, then how is D related to N 1
N#A$BxD?

(A) Granddaughter

(B) Nephew

(C) Can not be determine
(D) Grandson

9. Torr i *
nt

(A)

(B) Press
(C) Work
(D) Force

10. Which of the following is not a bacteria
related disease?
(A) Pneumonia
(B) Typhoid
(C) Influenza
(D) Diphtheria

6. ¥ A 7o e AR

(A) 21
(B) 25
(©) ﬁ«fﬂwm’ﬂﬂ?"

(D) 23
e @l G310 ez Y
(A) P
(B) #!
(C) 2 0
() &
‘
\Q o S K, Y- A5 KAV A
o fFO
(B) izl ',V
(C) e a1 BT A A‘
(D) if®

9. Torr 14 Unit?
(A) sfe (Momentum)
(B) B (Pressure)
(C) F (Work)
(D) 3 (Force)

(A) frefa
(B) DIRFRC
((2/ el
(D) festafa

NF A S



‘4’ means ‘x’ ‘.
11, If‘ ’ . )i y v n]cans U
1, 27-3+2%3+2)

3 (A) 27
(B) 35
{C) 39
(D) 37

= %" means
atis the value of

12. Which of the following is known as Mixed
g]and?

(A) Liver

(B) Thyroid

(C) Pancreas

(D) Pituitari

13. Which least number is divisible by 12,
20 and 257

(A) 150
(B) 300
(C) 600
(D) 200

@

14. Explaint ing relationship with the

help of Venn diagr
Singer, Musician, Doctor

A) OOO

(B) @)
0 ®

(§)

RBSIW(P)/20

A S ke, e S, XTI
i ‘+'m,m(2+27—3;2>r<3’+2)*ﬂ?‘

3 fefa * +3-7
(B) 35 2.1 % ﬁq)
(C) 39 26+° ’17
2%
By 37 e

N

\LQ 12, 15, 20 €32 25 71 fIere) Faos e

® «:@6

P97
(A) 150 ar®)
B 300 \\;O\‘ :
(C) 600 WA
(D) 200
) %
7\43\‘7
\')/\‘V%‘;,/

14. (S< SRR AR FEe o0 e
I3
SR, FRAGDE, TS

w OO

O
(B) @)
(©)
(D) @
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IS. 1f height of Mercury in a Barometer
decreases rapidly 1t denotes
(A) chances of Sunny weather
(B) chances of storm
(C) chances of clean weather
(D) chances of rain

16. Who wrote the play ‘Mudrarakshasha'?
(A) Vishakhdutta
(B) Shudrak
(C) Kalhan
(D) Kalidas

17. 45 men can produce 10000 electric bulbs in
12daysinaco-operative concern. The concern got
an order to produce 10000 electric bulbs in 9 days.
How many more men would be employed to meet
the order?

(A) 55
(B) 60
(C) 10
(D) 15

18. The Hinda 1 Qslocated on the
er’
¢

bank of which
(A) Su
(B) Maha
(C) Tungabhadra
(D) Kangshawati

19. A tea seller blends Tea A worth
Rs. 250 per kg with Tea B worth Rs. 150 per kg in
a ratio of 2 : 5 and sells the mixed blend at
Rs. 200 per kg. What will be his percentage of profit?

(A) 10%
(B) 12%
(C) 18%
(D) 15%

(6)

() fmirng
(B) gz

e
\Z
%ﬂ:’m 45 T e 12 e

A9 2 FACO I3 17376 9 i
34 341 AT | A6 wfefae o
< fcartet e 203, ffi® ST rerb vta

Ao
¢
(A) 55 RS \:) 0o
(BY 60 9 g
(€) 10 Ly
(D) 15 ? e

18. fe fRwieTeant w18 (ot e S vy 2
(A) el
(B) Wi
(C€) poreu
(D) FAITS!

“zb. 4 BHIES! 250 B/ @R T A o
15 W/@%mb«ﬂawzzswm
G | 931919 @2 ffers 51 200 Brel) 6fes e 3

(A) 10% 50+

.1 2¢0
(B) 12% R
(C) 18% V56 ¢ e
(D) 15% "2



o. Which of the followin
eSS park Web?

(A) 108

(B) Google Chrome
(C) Tor

(D) Linux

1S 3 hr“w%r o

2. A sulm. ?t the.compound rate of interest,
hecomes 2Y2 times in 6 years. The same sum
hecomes how many times in 18 years?

(A)

(B)

X's brother. Then how is
(A) Brother
(B) Unc
(C) F
(D) Nep

>

€

23. Who has won the India’s Science Award,
Bhatnagar Puroshkar for Chemistry in 20207
(A) Prof. Surjendu Dutta

(B) Prof. Surajit Dhara
(C) Prof. Rajat Shubhra Hazra

(D) Prof. Jyotirmoyee Das

")

20, Grsfafrs @@ Browser 57 A Dark Web
access &4 AW ?
(A) =2 ¢ 95
(B) o (F
(C) 52
(D) &=

21. @ A 5,

2V %A T | eisﬂ«%&ﬁmm?
25

625 >4
625 -
(A) 16 \¢? ‘fo
-
(B 2 \w :
\g&’
25
) 3

: G a7 A1 7F X437 7@ | P T G-aq I
Y T X923 o OFF Y, PAE A x>
) ‘P.«»Z\“‘7
B =
(C) 3t
(D) ot

23. 2020 FE TATN =E & [ 0T \r
AW THANE ATIR TS FACRA ?

(A) 2R A 78

(B) 2r@a safere 4
(C) AT FTrouy YT
(D) &rEa (el v
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24. If tme taken to travel between two stations
has to be reduced by 20%. then by what per cent
would the speed of the train has to be increased?

(A) 30%
(B) 25%
(©) 15%
(D) 20%

25. Which state of India is the first state to start
Coffee plantation?

(A) Andhra Pradesh
(B) Karnataka

(C) Kerala

(D) Tamil Nadu

26. ABCDEFGHIJKLMNOPQR
UVWXYZ

Which letter in this alphabet is
etter to the right of the letter which i
0 the left of the last but one letter

(A) 1
(B) X

e Q;\g"

27. Shyam borrowed some money from his
end at simple interest of 6% per annum. He
turned his friend Rs. 15,600. After how much

ne did Shyam return the money if he borrowed
. 12,0007

(A) 5 years
(B) 8 years
(C) 3.5 years
(D) 25 years

Lo)

| fe s BT STy (MBI
: izx,gﬁmﬁmmﬂm"’@mﬁ o

AT F(A? i
(A) 30% o7
(B) 25% e
0 ! 'q’/“l A,
(& 15% e
(D) 20% 33 43 Al
e e
e X J
4\5 v

26 ABCDEFGHIJKLMNOPQRST
UVWXYZ.

TR IR (@ S’ el eg (i
SRS WIS SRS S WIS BId Srwad
O OB BT SR 2

(A) 1

(B) X

(C) H

(D) W

?% T S G I R (A g Bl g
6% wvfmmmmmmweww

15,600 B3 (S (731 | Tfif iy 12,000 51 417 fcw

AT, OLI (3 TSN &) Bt 411 Fgafieey ¢ e 53
S oo W2
= et 2
(B) 8 3wd X 2
(C) 35W mﬂg‘,’
(D) 2:5 757 e



»8. Tungabhadra is a tributary of
(A) Godavari river
(B) Krishna river
(C) Kaveri river

(D) Brahmaputra riyer

29. M men agreed to purchase an article for

Rs. R. If 4 men drop out, how much more (inRs.)

will each have to contribute to purchase the article
o the same price?

(B RT_4R

__4R
M?* —aMm

4AM-R
4R

(B)

©)

M? —4R

D) =R

30. Which state of India has hig
of forest area?

(A) Nagaland

(B) Mizoram 0
(C) Mad
(D) d

ge

31. If the following words are arranged in
alphabetical order which word will come last?

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve

(A) Acquit

(B) Actuate

(C) Achieve

(D) Accumulate

28. g (A AN B ¢
(A) (stwrad) 7
(B) gaat =@l
(C) Frad
(D) Fofa «v 2
#\°
\Q .‘.n.'.
o ® 9
\} \ - \/
29. WV e g @@ @@ R Wi e e e
@!Uﬁmmm4wwwm.,wm
a3 33 wital gD s A0S il cafl fes
Ik . e
A 4M M-
(A) I'e < ’ “)_#q\ .
Q \M W
@ P o4M @\
-R
4R
) M?*-4R
MR
@ SRS (I AT INg I <o wAfaa
(A) NS
(B) frea
© AT
(D) (e

\ s el e SR ASE @
XTY QLA ?

|. Abandon 2. Actuate 3. Accumulate

-+ Acql}it i Achie}e

(A) Acquit

(Br)/Actuate

(C) Achieve

(D) Accumulate

[Please Turn Over)
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32, Who was the Director General of National
Government in Tamluk?

(A) Satish Chandra Samanta
(B) Ajoy Mukherjee

(C) Biren Sashmal

(D) Sushil Dhara

33. In human body blood does not clot in
(A) Capillary
(B) Artery
(C) Brain
(D) Vein

72 |24 | 6

9 | 16 | 12

108 7 | 18

(A) 18
(B) 12
(©) 20
(D) 16

ach Police

3S. During whose Go I
Station of British Indi s%‘ctioning under
Sub Inspector of,Poli

(D) Lord Rippon

36. If the ratio of principal and simple interest
at 4% per annum for a specific timeis 5 : 2, find the
number of years for which the principal was
deposited.

(A) 15 years
(B) 10 years
(C) 18 years
(D) 12 years

(10)

3. mw@nmmmﬂfmmwfmm?
(A) T8N 5 1%
(B) oo 1G]
(C) At =T
(D) A

33, WA @i S qG G A Y
(A) TFfE
(B) &l
(C) %
(D) faal

T3

34, -
\ 9 | 16 | 12

108 7 | 18

(A) 18
(B) 12
(C) 20
(D) 16

35, (@ Steeq (EEEe S f&Gioe =i
OIS Afel A1 A ZTHoFaa SR #if25ifEe
267 8F 37

(A) 76 Q5%

(B) 7€ P
(C) &6 ASHAH
(D) &6 faom

. AW 4% 7 qW 9 WS T o @
TANS S : 2 T, ST S HII % AN &)

o ! ZCAfRe 2 ey ?’;,
(A) 153%3 o (§A~
R
(BY 10 723 X'
(C) 18 77
(D) 12 9=



. Bhaba Atomic
) .:“?I]iCh o omic Researc Center is situated
(A) Telengana
(B) Madhya Prades},
(C©) Maharashiry

(D) Odisha

38. Whose biography 1s ‘Romancin gwithlife’?
(A) Amitabh Bachchap |

(B) Dilip Kumar
(C) Raj Kapoor
(D) Dev Anand

39. How many 4’s are there preceded by 7 but
not followed by 3 in the following number series?

5932174269746132874
13832567439582018746

(A) Six
(B) Four
(C) Five
(D) Three
40. Using 1c$ation to collect user
password is ¢
(A) Stal

(B) Bullying
(C) E-bombing
(D) Phishing

41, If 1+4=9, 2+8=18, 3+6=15, then the
value of 7+ 8 ="

(A) 30

(B) 41

(C) 32

(D) 23

(11) RBSIW(P)/20
st syinf 716 Grora (e alEs wafEe ¢
(A) (STETsRiell
(B) Sijeitwl
(f Ty
(D) Sfeam

38. 37 Gaaa I ‘Romancing with life’ ?

627t AN POl 4 St A A
AE 3 (722

321742697461
§325674395820 1

(A) =
(B) via
(C) #it5
(D) few

w K

3287
| 87246

40. TS W IR IR IR
AMGATS fef TN I w1 22
(A) Stalking
(B) Bullying
(C) E-bombing
(D) Phishing

W 1+4=9, 24+8=18, 3+6=15, O
8-9F W T ¢

(A) 30

(B) 41

(©) 32

Py 23

7
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42. Which one of the following is a Tax-free
Sea port in India?

(A) Mumbai
(B) Kandala
(C) Cochin
(D) Haldia

43. Indian Oil Corporation’s first ‘Green
Hydrogen’ plant will be built at

(A) Paradip Refinery
(B) Mathura Refinery
(C) Jamnagar Refinery
(D) Haldia Refinery

4. If %th of a road is 45 km, what is the
length of 35 th of that road?
(A) 68 km
(B) 60 km
(C) 26 km
(D) 66 km
45. Whicliof th$fol kingisthe world’s oldest
Capital City? |
(A) Oslo
(B) Canberra
(C) Accra

(D) Damascus

f)

46. CMM, EOO, GQQ, , KUU

(A) ISS
(B) GRR
(C) ITT
(M) G

(12)

. e @l srared @ wwe T
(A) A7
I aial
(C) ifoa
(D) Zfea

f

43, 3TAW e A 2o ‘Green

Hydrogen’ 2155 (i<l

3

30 AT — T 45 T 71, 79 92

~ 10

?@ CMM, £00, 530, 2 kuu
(A). ISS
(B) GRR
(C) ITT
(D) GSS




47. Simplify :

(@NTE_JSE) (\/366“/%“)\/7)
(A) 1445
(B) 2012
(C) 567
(D) 878

48. Fill in the blanks with appropriate set of
letters:

_a_bca_dabba_bac_c_a
(A) acbdba
(B) adcdba
(C) acbdab
(D) acdbba

49. A4 began a business with Rs. 2,250 and was
joined afterwards by B with Rs. 2,700. If the
profits at the end of the year were divided in the
ratio of 2 : 1, after how much time B joined
business?

(A) 7 months
(B) 6 months
(C) 3 months
(D) 5 months

50. What 1 e [c®”

(A) Prop ydrate
(B) Methane Hydrate
(C) Methylene Hydrate
(D) Ethane Hydrate

51. About 80% of the coal reserves of India lie
in the
(A) Mahanadi Valley
(B) Damodar Valley
(C) Godavari Valley
(D) Son Valley

(13) RBSIW(P)/20
47. FaANFA A
(V20 + 1125 - /567) (/500 + 4245 + 977 i
(A) 1445 Y
(B) 2012 s
© 561 g2’
(D) 878

48, Ao et fac gl s Fal 8
_a_bca_dabba_bac
(A) acbdba
(B) adcdba

(C) acb 0
(D) acdg
\q "’

250 B A @@l T eF Pl
B, 2,700 B0l forw @y 9@ = | AW
TRHT TP 2 ;| SAITS A '€ B-49 T Il
1 @ A OF 91 FO W AR B IR @
ZARe ? Q@

(A) 77 2

(B) 63

(C) 3

(D) 5

50. ‘Fire Ice’ TS NG (@D (IR 27 2
(A) (2NN ZAYH
(B) firew g3reh
(C) fufefem 2i2ugd
(D) R 226

51, SIA0O AfES T 80% (IR i© B ?
(A) TR SR
(B) WA SRR
(C) oM SRIfRPR
(D) (i SRAIfRIE
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52. How many pairs of letters are there in the
word ‘CASTRAPHONE'" which have as many

letters between them in the word as in the alphabet?
(A) 5
(B) 3
(C) 6
(D) 4

53. Who was the first recipient of Padma
Vibhushan?

(A) Dr. Bir Bhan Bhatia

(B) Nand Lal Bose

(C) Pandit Jawaharlal Nehru
(D) Satyandra Nath Bose

54. Six friends, namely, A, B, C, D, E, F are
siting on a bench. E and F are sitting in the middle.
A and B are sitting in the furthest corner. If C i
sitting just left to A, then who is sitting just ri
to B?

(A) C
(B) D
©) E
(D) A

55. Who becamgt

fi dian woman to win

irabai Chanu
<ha

(C) Lovlina Borgohain

(D) P.V. Sindhu

56. Mohini is taller than Nita but not shorter
than Sarita. Sarita and Malini are of thf\ same
height. Mohini is shorter than Hema. Among

them, who is the second tallest?
(A) Hema
(B) Mohini
(C) Can not be determined
(D) Nita

(14)

52. ‘CASTRAPHONE' xmmﬁmﬂ% ! ot

i AT T T SR
IrHd SR ?
(A) 5
(B) 3
(C) 6
(D) 4
, % forete ?
53, g ‘oG A AAE CF
(A) G qSl S
(B) eIl
(®); S
(D) A

4
. QD,E&«F&?@@'%@W?@

?I‘(FWWWWIA&H%B@W
| %fi C, A7 G ARz 01 A,
B-7 %3 GRS (F 07 AR ?

(A) C

(B) D

(C) E

(D) A

(eT2P

55. (I OIS Wiz FEU Sfeifiw (oA
75 e S ICARA ?
(A) R0 TR B
(B) fs.%. Tt
(C) FTeH! ITToRR
(D) fot.fe. Frg

56. IR o1 (2w 71 oo et cas
T, 0! 2. Mfera Swet 7 | R e (U@
@ | e G W Al (e

(A) (==
(B) et
(D) el



§7. The ratio of market prices of wheat and
paddy is 2 : 3 and the ratio of quantities consumed

mafamily is § : 4. Find the ratio of expenditure on
wheat and paddy.

(A) 1:1
(B) 6:5
(C) 8:15
(D) §:6

58. Choose the alternative which closely
resembles the water-image of the given word:

NUCLEAR
(A) WUCTI3ve
(B) BYETCUM

(C) INCTEVH
(D) MNCIEVHE

59. Father is three times as old as his son. After
twelve years, his age will be twice as that of the age
of his son. What is the present age of the son?

(A) 36 years
(B) 10 years
(C) 14 years
(D) 12 years

60. Who Named Kolka @9
(A) Mir Kashi b
ol

(B) Sirg; U
(C) adyr
(D) af;

Alam

61. Find the fourth proportional of the following
numbers:

S
~

A=
\O |=—

i
3’
(A) 6
(B 7%

(©)

-3

|

|

18

|

2

|
(D) 3

RBSIW(P)/20

) 531G YI#1A ANGHAGAT Bl 2« 3 972 7y
413 SN 8 U7 ATABNAT ST 5 © 4| Lo
AfFarafa o1 8 4Ita Gy AAHA SE]ATE T 7

. . %
(A) 1:1 e
(B) 6:3 g.v\ \q’w
C) 8:15 ‘-
fs ¢ W
NUCLEAR
(A) MUCrav
(B) BYET]
m
(D) K VK
4
T 9{Tad AT fomeel | 12 924 29
FO? i
A) 36 %7 g Tl
( ) . ‘77% K\'V): A~
(B) 10 =g o+ e ":9/
(C) 14 3= 2T
(Dy 12 928 I Sl )
. 1&‘&
7@. FAPONS o’ AT (F PRI 2
(A) it
MB) e B e
(C) IS 12 e
(D) S
61. fEfaie Saied Smsiite vod eaid Fo 2
2
111, WK
'’ Q¢ I+ L
36" 9 - kTt
1 2 (;»%
(A) g \@
\
ga«ri | =
18 ¢ sadlh
| CISMY
(©) 9 \9
1 Lo '/_?-
D) 3 % 4
)
[ SR ._2
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62. Which of the following is the longest river?
(A) Brahmaputra
(B) Ganges
(C) Godavari
(D) Indus

63. 4 and B can do a piece of work in 10 and
15 days respectively. 4 alone did the work for
4 days and then Bdid it for 5 days. Thereafter C did

the remaining work in 8 days. How long will they
take to complete the work together?

(A) 8 days
(B) S days
(C) 3 days
(D) 7 days

64. If 27th September in a year is -
then what day will be 27th Oc me
year?

(A) Saturday
(B) Monday
(C) Sunday

(D) Thursd 0

65. In
has been dec

(A) 1969
(B) 1999
(C) 1989
(D) 1979

Sundarban in West Bengal
as a Heritage Site?

66. Buddhist religious scripture Tripitaka was
written in
(A) Sanskrit
(B) Pah
(C) Hindi
(D) Bengal

(16)

—~

62. ferzi@ (afb Ffas <@ o
(A) Fofd
(B) st
(C) cstmradl
(D) %

63. 936 ¥ 4 106 15 fazet ooz

AN A A 9@ 14 %14 B 5 fael w150 #c |
SAfR(B FEBL 17 (7 | forrare wag FarE

64. AW @A ARET 274 FCHED WA =,
O(A @3 ICIA3 270 I (DI AE A ?

(A) =ifeara
(B) GIsEa
(C) afaar

(D) g~ifsar

65. T ANt ARG Faas 93 ‘@RGe
AR (RN 1 27 2

(A) 1969
(B) 1999
(C) 1989
(D) 1979

(T 4afg “fafoibe’ o ffsice e zafee 7
(A) Yepe

@ i
(C) fafw
(D) «ige
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67. A garrison of 500 men had provisions for J 93 FEBISRITs 500 5l 231ra 24 farsra
24 days. However, a reinforcement of 300 men 1T | A8 300 T ot S5 50w, 4% 1w
arrived. The food will now last for fazera (osia 19a 574 ¢ €10 - M

(A) 17% days (A) 17V @ ) %
(B) 15 days m/ﬁﬁﬂ af© q/
- T
(C) 18 days . )
(D) 16 days (©) 18% f”"%
(D) 16 =
, 7 CAFra A

68. Padmashri award winner Mouma Das is 68. AATR sjFA G C

associated with which field of Sports? TG 9
(A) Table Tennis (A) (3@ ¢

(B) Badminton (B)
(C) Cricket

(
(D) Lawn Tennis \%ﬁm

69. The ‘Pegasus’ spyware, allegedly used for

51 SratE, (o
surveillance of phones recently, was develope e IR (@ Sl .
R/ (I (T 2 S AR i
(B) Israel (B TR @: .
(C) France @ \Dq/ KA 6’5 :
(D) Canada ¢ y \°+m “7):/
('W (Yl/ \b
70. The € numbers is 80. The 70. foa MAE 5T 80| AU e
first numb

oréthan twice the second and et BT (A 10 & a2 e il \p_@'ﬂ

T NG (AT 10 3 | A0S (=R KM ot !
What is the lowest number?

LY
P9? ’7{/(_0,4 ')/\%bﬁ,ﬁef
(a) 28 (A) 28 M\O
© 6 P "‘7%( Ho'r"
i) 60 (C) 66 Mrlo ‘Lofq
(D) 26 (D) 26 (}t.\’5 (OV
TS ) %7;
{ ? 0
71. On which river Tehri Dam has been built? 71. (9&fq 4 @ DA ACRCACEIEN) ow )
| (A) Ravi (A) [
(B) Ganges (B) sl
(C) Ichhamati () PGl

(D) Iravati D) Saia®)
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72. The length of a hall is Sm more than its
breadth. If the area of the floor of the hall 1§ 84m2,

what are the length and breadth of the hall?
(A) 13mand 8m
(B) T1mand6m
(C) 14mand 6m
(D) 12mand 7m

73. If a seller sold two sarees at Rs. 400 each
and made a profit of 20% on the first and a loss of

20% on the second, what is his total profit or loss
on the whole?

(A) 4% profit

(B) No profit no loss
(C) 1% profit

(D) 4% loss

74. INDRA 2021 was scheduled
(A) Japan
(B) Russia
(C) Singapore
(D) India 0

(A) 56
(B) 69
(C) 60
(D) 65

76. The National Police Acadgmy at Hydcr'a.bufl
18 nar}ned after which of the following personalities?

(A) Lal Bahadur Shastri
(B) Pandit Jawaharlal I.\Jehru
(C) Sardar Vallabhbl'lal Patel
(D) Mahatma Gandhi

(18)

#. a3} ZEaa o) 2rEd (A S At | o
ed (A 84f T, O3 A 0

o TG?

§
(A) 13fiegfi %;
B) 11fig6fi W‘I“ L0
(C) 14 e 6fi ,)LM \
fra7f o4
Lyo\\ SD‘)( ]2 ’#7,\]'1*\4/3&,%9
(’/o "\ m@«
L 6 *ife afelG 406 E, G5
o 2 #fefbre faor =ifefbre
20% e Fd1a i ol1d O F &e 4l
ik T) 0ol
( Y T | Y
e gzl | ,@;’0
1% #11S 23| \*@s
4% e 2 | 4‘6/

\zjg ‘INDRA 202 1" SC1#115 (LI Seffoe 2631
9

(A) Gl
(B) afal
(C) Pmsfg
(D) ®Ie "
TR h
o \y#\\ ,\ﬁ.:& -
1ﬁ. 12,25,37,49,2 MY .V @
(A) 56 o oY
(B) 69 N
(f 60 o
(D) 65 b

RGN ol sife afirsd @@
(National Police Academy) %1% A1t wWIfEF®?

(A) SR R

(B) & wezze (e

(©f Swita TR s

(D) I it



77. A mixture of dettol and water contains 80%
of water. What volume of dettol is to be added to

60 Im"cs of this mixture, so that the new mixture
contains 75% of water?

(A) 8litres
(B) 4 hitres
(C) 10 litres
(D) 6 litres

78. Which National Highway of India is the
longest?

(A) NH 60
(B) NH 17
(C) NH 44
(D) NH 10

79. The concept of Welfare State is included in
the Constitution of India in the

(A) Fourth Schedule

(B) Preamble

(C) Directive Principles o
(D) Fundamental Rights

80. If ACID js wri
written as P1

n 3D, PAMPER is
w will BOMBAY be

(B) BAMBI1Y
(C) B4AMB2Y
(D) B3MBIY

81. Whose Pen-name was ‘Dhumketu’?
(A) Sharat Chandra Chattopadhyay
(B) Kaji Nazrul Islam
(C) Satyajit Ray
(D) Sunil Gangopadhyay

ry AR PR AR Y IR e

92l (©b# @ A fse 80% 5 i |
60 B @3 fimre 951 qube Gilire, o fmre

75% O NA1A b
(A) 8 f@ba 'lp,to
(B 4 fira N1 2
() 10 fadra @*Uf"(‘
(D) 6 Fidra g v o
A '
,q"é \
(A) NH 60 XN
(B) NH 17 @4 e

@) N N
(D) NH\O e AT

(B) &El
(C) AT Afeq forE= dfe
(D) Gfers sfera

80. I ACID-99 wiafes fafs 1C3D,
PAMPER-¢9 PIMP2R 2¥, ©(@ BOMBAY-44
Ao @ J e

(A) BSMB2Y
(B) BAMB1Y
(C) BAMB2Y
(D) B3MB1Y

81. GNPy 1A WA ey ¢
(A) *RAHH BB
(B) ifer weresy e
(C) Aerfere A
(D) A AR

rw-.e ru ~ 2
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82_. The Pompus grasslands are found in which
continent?
(A) North Americy
(B) Asia
(C) South America
(D) Africa

83. Which Indian actor was recently honoured

with the Crystal Award of the World Economic
Forum?

(A) Kareena Kapoor
(B) Priyanka Chopra
(C) Anushka Sharma
(D) Deepika Padukone

84. A man standing on thegi{at nds that

an Express train passes hi s. If the speed
of the train is 60 e length of the

train”
(A) @
(B) et
(C) 300Mfers

(D) 200 meters

85. The tenure of each Member of Legislative

Council is
(A) 6 years
(B) 3 years
(C) 5 years
(D) 2 years

(20)

82, ‘omeIPT GeNghl (el SR (IS AAleT
T
(A) Taa Sfaa!
(B) @«
(C) R STl
(D) izt

84. AGTE HoE ¥ A& M @ 4FH G2
G OIS 15 (TS Sifeas 3 | T @30 Gava

sifetael 60 fafi/B1 23, O3 GaHa ) 9 7
(A) 150 o= A
(By 350 fiora ™
(C) 300 fibra P VW

7
(D) 200 fi5ra 07\;!3 0,

0

¥ #7/1‘2, \muo\)"

@X%F@mﬁ
Py
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86. Ifnumberisin bottom, then which number

1S on top on a dice?

SRNGENGE

(A) 1
(B) §
() 6
(D) 3

87.. Who of the following was named ‘Jagat
Seth’ by East India C ompany?

(A) Khoja Wajid
(B) Manikchand
(C) Umichand
(D) Fatikchand

88. Rashik walks 20m North.
right and walks 30 m. Then he turnsg
35m. Then he turns left and w
again turns left and walks 15
and how many meters aw,
position?

(A) 3
(B) es
(C) 45
(D) 30m East

89. Sportsperson Deepika Kumari, whorecently
reclaims world no. 1 ranking is associated with
(A) Table Tennis
(B) Archery
(C) Wrestling
(D) Kabaddi

86. 1 2 312201 G 217 B (lel oAl wata
ToATa AAA?

9 6@
i b L
(A) 1
B) 5

(C) 6
(D) 3

87. fasfafre @ B et Al
Tl (X5

(A)

-~

88. b Tea i 20 Fo™ RG AW | @994
G g (1 30 F5H 206 | 93547 WA T e
qra 35 19 T | @Foi7 A e gea 15 o T
I SRR At g 15 5 1 | 367 38
O ST B (A T (F IR (I TS oz ?

(A) 30 o= 26t
(B) 15 fora #f¥stw ) K
(,Q’)/anﬁW"Ezf 5

(D) 30 5 o4&

89. 2ifS RNe W& T CATETNG A5 FR
(@I (@ X YG P

(A) (6fas BfRs
(B) foz=ifer
(C) 3

(D) w4l

Mlanca M Nvranl



90. If a mireor
I a mirror i placed on the line MN. then

Which of the ans
: ; SISt :
the given figure? he right image of

r\*hé
/ %

\

\

\

\\J §
N

(A)

(B)

©)

(D)

/oj
%L

9. i MN (@21l 33173 93 7ofel 12l 7, a7
Wmsﬁﬁmmaﬁ:ﬁmM

(A)

(B)

?

(D)




91. Which industry s

known as ‘Sunrise
Industry?

(A) Transport Industry

(B) Petrochemical Industry
(C) Construction Industry
(D) Computer Industry

92. At what rate of compound interest per

annum, the amount of Rs. 10,000 for 2 years is
Rs. 12,1007

(A) 5%
(B) 10%
©) 11%
(D) 20%

93. Who is the highest rinany state

of India?

(A) Solicit r&
(B) ral
( %neral, Law Department
(D tog#ey General

94. Which temperature in Celsius scale
represents Absolute Zero Temperature?

(A) -237.15°C
(B) -273.15°C
(C) -373.15°C
(D) 0°C

(23) RBSIW(P)/20

91. ARG 3w awirs frsffars i fomrn
(AT 9
(A) “AfFazd fom
(B) (oAmirahiase fm
(C) fasfiet foimm
(D) afrEora ferm

© AT AW, 10,000 Gt

A
o 10% @% \
C) 11% \@“'
(D) 20% LV
SO
'wﬂ'p

93. OISR [ (P! AT A Nz Tws
TS (57
(A) =GR (Eeicge
(B) SHTGCSIFD (SaiCe
(C) wizs fAere™ Crasid @mie
(D) SHiBf (emites

94. GETPRIP] (FETR AGHRBIE @ SN
‘Absolute Zero' S9Nl 905 (AR 27 2
(A) -237-15°C
(B) -273-15°C
(C) -373:15°C

(D) 0°C
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95. How many tri; : .
e Yy tangles are there in the given
A
i
1
(A) 14
(B) 10
©) 16
(D) 12

96. Recently in which state of India, 300 years
old Sati Stone was unearthed?

(A) Haryana

(B) Madhya Pradesh
(C) Tamil Nadu
(D) Gujarat

97. HCFoftwonu dtheir LCM s
1760. What 1s ber?
(A)
(B) 1
(C) 102
(D) 110

98. 40’clock rain is prevalent in
(A) Yenisel basin
(B) Amazon and Congo basin
(C) Huang He basin
(D) Nile basin

(24)

(A) 14
(B) 10
(C) 16
(D) 12

©

SIaedrd (@ ey 300
o d ST (102 ?
)
) Ny

(C) oIy
(D) @&

97. Wb A 9@, GRS, TYUFE 324K
1760 &, Faed Y F© ¢
(A) 152
(B) 160
(C) 102
(D) 110

98. 4 4fbapia 3 (4 0’clock rain) FEfERS @
B (4TS NG A ¢
(A) TRET SRAIR
(B) SINIEH G (3 SRR
(C) (R Sty
(D) A SRR



(25)
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99. Which state has recently declared and 99. (@t Atren Ar2lfem smra gaf G e
cclchratcdapamcularday as ‘Desh Nayak Divas'? ‘TS AT et carre st s 0
(A) Tharkhand (A) AT
(B) Bihar (B) Faqm
(C) Odisha (C) @ﬁgm
(D) West Bengal .
) AfessIas
100.. If a person sells an article at a profit of 5%, . 93 5% S Rew wew |
he gains Rs. 15 more than if he sells it at aloss of | s o 5% frern et @ e (ofre, o
3%. What is the cost price of the article? AF (AT | G567 FFaen F6 ?
(A) Rs. 120 5l
(B) Rs. 150 ’ .
. 0 51 W
(C) Rs. 125 N ¢ M S
(D) Rs. 105 (€) 125 bre > 0§’0)0
(D) 105 i (e
>
L o
R s
: < %
0 e
\ ' 9
L
W



